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INSTRUCTIONS AND INFORMATION
1. Do not open the booklet until you are told te.do-so.
(Khéng mé tiép tai liéu nay cho dén khi ban dirgc cho phép)
2. This question paper consists‘of 20 questions.
(Dé kiém tra nay gom 20 cdu hoi)
3. Attempt as many questions as you can.
(Cé ging lam nhiéu nhdt co thé)
4. Neither mathematical tables nor calculators may be used.
(Khéng ding may tinh ciing nhu cdc thiét bi hé tro tinh todn)
5. Write your answers in the answer boxes on the separate answer sheet provided.
(Viét eédu trd 1oi vdo cdc 6 tra 16i trong phiéu tra 16i dwoc phat riéng véi to dé nay)
6. Marks are awarded for correct answers only.
(Piém chi dwgc cham cho nhitng cdu tra loi ding)
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P1

Caculate: 15x4x25="7°
(Tinh 15x4x25=7)

P2

Fill the correct answer in the blank as shown in the figure below.
(Dién s6 vao 6 trong trong hinh dudi ddy)
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P3

A square paper is folded according the dotted line as shown in figure (1), and
the figure (2) is obtained , and the paper is folded again according the broken
line in figure (2) ,then the figure(3) is‘'obtained. One of the-angle of triangle
in figure (3) is cut according to the dotted line as shown.

(Mot manh gidy hinh vuéng dwge gap theo dwong nét dirt nhuw & hinh (1), khi
a6 nhan dwoe hinh (2), sau.dé manh gidy dé dugé gap tiép theo nét dirt &
hinh (2) dé nhdn dwoc hinh (3). Mot gée ciia hinh (3) bi cdt theo dwong nét
duet ¢ hinh (3))

(1) (2) (3)

Which of the following is the final shape for the paper after the paper is
unfolded?

(Sau khi mé manh gidy d6 ra thi nhin dwoc hinh ndo dwdi déy?)
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P4

f1+3+5+7+9+...+99=2500,then3+5+7+9+...+101=
(Neul +3+5+7+9+ ... +99=2500thi3+5+7+9+..+101=2?)

PS5

In the figure below, how many triangles can be formed using any three
points ?
(Trong hinh dwoi day, co bao nhiéu hinh tam giac dwoc tao thanh tur cac




diém da cho?)

P6

The sum of two natural numbers is 15. What is the largest value of the
product of these two numbers?

(Téng hai s6 tw nhién la 15. Hoi tich I6n nhdt ¢é thé ciia hai sé dé la bao
nhiéu?)

P7

There is a mirror at the opposite side of a clock. The image of clock inthe
mirror has shown as below. What is the actual time for the clock?

(C6 mét cdi gurong dat doi dién véi mot cdai dong ho. Hinh dnh dwdi ddy la
hinh cdi dong ho dwoc nhin thdy trong guwong. Hoi thoi gian‘thuwe.té lie dé la
may gio?)

P8

There are 3 different colours of sticks in the pocket. 9 sticks are red, 8 sticks
are yellow and 7 sticks are blue. At least how many sticks should be taken
out from the pocket to ensure there are’definitely 3 different colours of
sticks.

(C6 3 logi miéng dan khéc nhau trong vi. Cé 9 miéng mau do, 8 miéng mau
vang vad miéng maw/xanh. Hoi can ldy ra it nhdt bao nhiéu miéng gidy dé
chdc chan €6°3 mau khéc nhau?)

P9

Observe the number pattern below carefully.
(Quan sat quy ludt day sé dwdi ddy can thin)
1+3=2x2
1+3+5=3x3
1+3+54+47=4x4

Hence, compute: 1 +3 +5+ ... +55.
(Hay tinh 1 +3+5 + ... +55)

P10

Najib reaches home at 6 o’clock every evening. He uses 66 minutes to do the
following activities:

Turn on the microwave — 1 minute

Heat up his dinner using the microwave — 5 minutes

Take a shower — 10 minutes

Watch educational TV programmes — 6.45 to 7.15 pm




Eat his dinner — 20 minutes

What is the shortest time for him to complete all the activities mentioned
above.

(Najib vé nha lic 6 gio toi hang ngay. Anh ta danh 66 phiit dé lam cdc cong
viéc sau.

- Bat lo vi song — 1 phut

- Ham néng bita toi bang 16 vi séng — 5 phiit.

- Tiam — 10 phiit

- Xem chwong trinh vé gido duc trén vé tuyén — tir 6:45 dén 7:15 toi.

- An 16i — 20 phiit.

Hoi thoi gian ngdn nhdt dé anh ta c6 thé hoan thanh tat ca cdc cong viéc
trén la bao nhiéu?)

P11

3429 digits are used to print the page numbers of a book. How many pages
does the book have?

(3429 la s6 chir s6 ding dé danh sé trang 1 cudn sach. Hoiéuon sach dé ¢6
bao nhiéu trang?)

P12

You are allowed to take three of the toys below. Howmany ways ¢an you
choose them ?
(Ban dwoc phép ldy 3 do choi dudi ddy..H6i ban' ¢é tat ca bao nhiéu cdach
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P13

A factory had ordered the materials to produce either 30 T-shirt or 48 skirts.
However, the customer changed the order to produce only 20 T-shirts. How
many skirts can be sewed with the remaining materials?

(Mt nha may da ddt mua nguyén liéu di dé may 30 cdi do T-shirt hodc 48
cdi vay. Tuy nhiénsau dé khéich hang da thay doi yéu cau va ho chi yéu cau
may 20 ¢di do T-shirt. Hoi véi s6 nguyén liéu con lai ¢é thé may dwge bao
nhiéu caivay?)

P14

A virus infects your calculator. In the calculator’s memory, each number x
from 2 to 9 is replaced by the sum 1+2+3+4+...+ x. For example, 2 is
replaced by 3 (1+2=3) and 5 replaced by 15 (1+2+3+4+5=15). Everything
else works normally. If you enter 1 + 3 + 5, what result will be shown by the
calculator ?

(Mot con virus da gdy anh hwéng dén may tinh cia ban. Trong bo nhé cia
may tinh, s6 x tir 2 dén 9 sé dwoc thay bang tong cdc s6 tir [ dénx: 1 +2 + 3
+ ... +x Vidu, s6 2 duoc thay boi s6 1+2=3, 565 duoc thay boi s6 15 (
1 +2+3+4+5=15). Cac thir khdc déu hoat déng binh thuwong.

Néu ban dn 1 + 3 + 5 thi két qud mdy tinh sé hién thi la bao nhiéu?)

P15

The numbers 2, 6, 12, 20, 30,... are arranged according to certain pattern as
shown below. What is the number in the 20™ place from the left of 40 row ?
(Cdc 56 2, 6, 12, 20, 30... dwoc sdp xép theo qui ludt nhie hinh dwdi ddy. Hoi




6 & vi tri thir 20 ciia hang thir 40 1a s6 nao?)
2

20 30 42
56 72 90 110

132 156 182 210 240

P16 Find the value of A where:
(Tim gia tri cua A)
(2015 20152017 201720172017) . 2017201720172017

2016 20162018 201820182018 )  2018201820182018

P17 Find the area of shaded figure?
(Tim dién tich cua hinh boi xam dwoi day)

—
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P18 From the numbers between 3000 and 4000, there are numbers with digits
increasing from leftto right ,for. example 3457. How many different numbers
are there with digits that increase from left to right between 4000 and 5000 ?
(Trong &de'so tw nhién giwa 3000 va 4000, ¢é cdc s6 ma chir sé ting dan tir
trdi sang phaiywvi du s6'3457. Hoi c6 bao nhiéu sé khéc nhau ma chiv sé ting
dan tir trdi sang phdinam giita 4000 va 5000?)

P19 How many possible way(s) to draw the below figure such that the figure is
drawn by one pen stroke, that the start and end points are P.
(C6'bao nhiéu cdch khdc nhau dé vé dwoc hinh dudi day bang 1 nét but,
(khong diroc nhdc but va khong dwoc t6 lai 1 doan thcfng da ve truoc do), bat
dau tir' P va két thiic tai P?)
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P20

A staircase has 10 steps. If Peter can climb either 1 or 2 steps each time, in
how many ways can he reach the tenth step?
(Mot cau thang co 10 bdc. Néu Peter cé thé buée 1 hodc 2 bac méi lany thi
anh ta cé thé ¢é bao nhiéu cach khdc nhau dé buée 1én bac thir 10?)
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